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2 10:00~ |SONIO(S) 2 vs 0 {h%Ll [GLARZIEL vs
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8 16:00~ Vs vs

XILUR)—TvF%

1712

BEERE HERTF—LTHBEO L. AERTEMLORDHABGETET S, (10~155 X 1K)




BEx U—11

2025 ENRZ 2 =FHvhH— Y —TFiEE ) — 2 (GHREHX)

48128 (1)
U—11(A) Uu—11(0)

HERB (ALY 52 R (BR)

KIBEHE |(481) DESAFIOE) (Fi&) v—HIL(A)| T #  |(FED (F1&) = 3
1 09:00~ |DESAFIO(E) 6 vs 0 AH MRS vs

2 10:00~ |SONIO(A) 2 vs 2 HKiES# |DESAFIOE) vs

3 11:00~| FEIl 0 vs 3 DESAFIOE)| EE vs

4 12:00~ AH 2 vs 1 GE FRNI vs

5 13:00~ | MIES#®X 0 wvs 15 >—HIL(A)| KH vs

6 14:00~ [SONIO(A) 0 vs 2 FEHEJIl [>—HILA) vs

7 15:00~ |&—HIL(A) 6 vs 0 HE |SONIO(A) vs

8 16:00~ vs vs
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1 .09:00~ |GLARZIEL 1 vs 0  {h%IL |sonomwg—| USS 0 vs 0 HEMHDH ER
2 10:00~ |sonOBHE— 0 vs 7 SONIO(S)|GLARZIEL| B&(A) 1 vs 0 EE uss
3 11:00~ ZiE 0 vs 3 GLARZIEL|SONIO(S) vs
4 12:00~ [ 1h%L 3 wvs 0 sonozwz—| ZEE uss 2 vs 0 EB(A) | ®EhHD
5 13:00~ [SONIO(S) 4 vs 0 ZHe hEW | EAdDHL 1 vs 0 RE B&(A)
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1 09:00~ | BRIGHT 1 vs 2 DESAFIOP)| FvX [F47EP) 0 vs 1 LAZO SHER
2 10:00~ | FvX 9 vs 0 FCE%E |[pEsAFioF)| SHEM 0 vs 2 ZHPFER) |TA4T7EP)
3 11:00~ [DESAFIO(F) 4 vs 1 REB(C) | FCEE Em 3 vs 2 T47E(P)| LAZO
4 12:00~ [ S%F(A) 0 vs 5 TyFUL-Fz| BEE(C) LAZO 0 vs 0 ZHEE | ZPFER)
513:00~ | B8®(C) 1 vs 1 FCEE |[74-1t0h—Fz| EM 0 vs 9 FEIMA @
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7 15:00~ vs #f(A) 3 wvs 0 &M En<F
8 16:00~ vs En”F 7 vs O EM £3L(A)

KILUR)—IvFEITI5E6E, REl HZF—LTHEO L. AERTENMORODHAEGETET 5, (10~1557 X 1K)




BEx U—11

2025 ENRZ 2 =FHvhH— Y —TFiEE ) — 2 (GHREHX)

48198 (1)

U—11(A) Uu—11(C)
HERS CEAIER T 5K (BE) ZRFEFCY IR (L)
KELUE |(FiD FWLB) FR) HEESK £ # [&FE) CPFA) FBR B H
1.09:00~ | #%.(B) 0 yvs 13 >—HIL(A)| =K T4Ah-Fx 0 vs 3 TATEF)| IWRFEA)
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4 12:00~ [>—HIL(A) 5 wvs 1 FRII HE |DESAFIO(F) 1 vs 5 TA7EF)| FuX
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6 14:00~ vs vs

7 15:00~ vs W&
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7 15:00~ vs vs
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5 13:00~ vs vs
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2 10:00~ |DESAFIO(E) vs S—HIL(A)| £1L(B) uss vs SONIO(S)| BB (A)
3 11:00~ [ £%L(B) vs MESHR [>—HLa)| 'Ehbb vs S AL
4 12:00~ |>—HIL(A) vs AH MERL | A% vs uss Ehhh
5 13:00~ SE vs DESAFIO(E)| AKH [SONIO(S) vs BAHH EZil
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2 10:00~ | BRIGHT vs Z4% (A) |DESAFIOF)| ZHFE(R) vs EF@ |[TA47EP)
3 11:00~ |DESAFIO(F) vs FCEE | ZvFEA) | cHhEE vs TA7EP)| FEH
4 12:00~ | BRIGHT vs T{-*L—Fz| FCEE EW vs CAOFER) EFmM
5 13:00~ | FCEE vs ZHFEA) | T4—FM-Fz| LAZO vs £3L.(A) | SHEF
6 14:00~ vs & vs E 5 F LAZO
7 15:00~ vs £21L(A) vs SHER En<F
8 16:00~ vs E 5 F vs LAZO £1L(A)
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5 13:00~ vs vs

6 14:00~ vs Vs
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6 14:00~ vs vs
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1 09:00~ vs vs

2 10:00~ vs Vs

3 11:00~ vs vs

4 12:00~ vs Vs
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1 09:00~ AH vs MWESR | £3L(B) Em™ vs LAZO |T47E(P)
2 10:00~ |DESAFIO(E) vs £1L.(B) XH ZPER) vs TA«7EMP)| FE
3 11:00~ =K vs AH DESAFIO (E) vs
4 12:00~ | MIES vs DESAFIO(E) =K vs
5 13:00~ vs vs
6 14:00~ vs vs
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1 09:00~ vs vs

2 10:00~ vs Vs

3 11:00~ vs vs

4 12:00~ vs Vs

5 13:00~ vs vs

6 14:00~ vs Vs

7 15:00~ vs vs
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1 09:00~ =K vs T—HIL(A) EFRII vs

2 10:00~ XH vs FR S—HIL(A) vs

3 11:00~ =K vs £1L.(B) XH vs

4 12:00~ | “—HJL(A) ys SONIO(A) =K vs

5 13:00~ £1L(B) vs EFRI SONIO(A) vs

6 14:00~ XH vs SONIO(A) £1L.(B) vs
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1 .09:00~ | T47E(F) vs FuX | THh—Fz| BEDF vs IHEF Em
2 10:00~ | B&(C) vs F1-th-F1| FuX @ vs EM &5 F
3 11:00~ | T47E(F) vs ZPFEWA) | BB [TA47EP) vs En<F IHEFE
4 12:00~ | FCE%E vs TAAL—F1| T4TEF)| SHEFE vs E@ EM

5 13:00~ | B&(C) vs CXFEA) | FCEE | PFER) vs 23L(A) [T47EP)
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2 10:00~ | B&(C) vs FyX BRIGHT vs

3 11:00~ | BRIGHT vs TA47EF)| FCEE vs

4 12:00~ |DESAFIO(F) vs *FyX  |TA4TEF) vs

5 13:00~ | TA47E(F) vs FCEE |DESAFIO(F) vs

6 14:00~ vs vs

7 15:00~ vs W&

8 16:00~ vs vs
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